
CHEMISTRY

BOOKS - CBSE COMPLEMENTARY MATERIAL CHEMISTRY

(HINGLISH)

P-BLOCK ELEMENTS

M C Q

1. On addition of conc.  to a chloride salt, colourless fumes are

evolved but in case of iodide salt, violet fumes come out. This is because

A.  reduces Hl to 

B. Hl is of violet colour

C. Hl gets oxidised to 

D. Hl changes to 

H2SO4

H2SO4 l2

l2

HlO3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nHLzmGxKZvXJ


Answer: C

Watch Video Solution

2. Affinity for hydrogen decreases in the group from fluorine to iodine.

Which of the halogen acids should have highest bond dissociation

enthalpy ?

A. HF

B. HCl

C. HBr

D. Hl

Answer: A

Watch Video Solution

3. Which of the following are peroxoacids of sulphur ?

https://dl.doubtnut.com/l/_nHLzmGxKZvXJ
https://dl.doubtnut.com/l/_PRYaFybl3Sb5
https://dl.doubtnut.com/l/_vWzZsvv8fLRV


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2SO5 and H2S2O8

H2SO5 and H2S2O7

H2S2O7 and H2S2O8

H2S2O6 and H2S2O7

4. In the preparation of compounds of Xe, Bartlett had taken 

as a base compound. This is because

A. both  and Xe have same size

B. both  and Xe have same electron gain enthalpy

C. both  and Xe have almost same ionisation enthalpy

D. both Xe and  are gases.

Answer: C

O+
2 PtF −

6

O2

O2

O2

O2

https://dl.doubtnut.com/l/_vWzZsvv8fLRV
https://dl.doubtnut.com/l/_Gb8E6K5cSpsF


Watch Video Solution

5. Reduction potentials of same ions are given below. Arrange them in

decreasing order of oxidising power. 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Ion ClO−
4

IO−
4

BrO−
4

Reduction potentialE ∘ /V E − = 1.19V E − = 1.65V E − = 1.74V

ClO –
4 > IO –

4 > BrO –
4

IO
−
4 > BrO

−
4 > ClO

−
4

BrO
−
4 > IO

−
4 > ClO

−
4

BrO
−
4 > ClO

−
4 > IO

−
4

6. Bond angle in  is higher than the bond angle of 

. The difference is due to 


H2O(104.5°)

H2S(921.1°)

https://dl.doubtnut.com/l/_Gb8E6K5cSpsF
https://dl.doubtnut.com/l/_Q0eSLGh5vREx
https://dl.doubtnut.com/l/_rrfDmyKc4T2b


A. O is diatomic and S is titra-atomic

B. difference in electronegatively of S and O

C. difference in oxidation states of S and O

D. difference in shapes of hybrid orbitals of S and O

Answer: B

Watch Video Solution

7. Arrange the following hydrides of group 16 elements in order of

increasing stability.

A. 

B. 

C. 

H2S < H2O < H2Te > H2Se

H2O < H2Te < H2Se < H2S

H2O < H2S < H2Se < H2Te

https://dl.doubtnut.com/l/_rrfDmyKc4T2b
https://dl.doubtnut.com/l/_pYNhfLTLM3Qt


D. 

Answer: D

Watch Video Solution

H2Te < H2Se < H2S < H2O

8. The hybridisation of sulphur in sulphur tetrafluroide is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sp3d

sp3d2

sp3d3

sp3

9. On heating  we get :KCIO3

https://dl.doubtnut.com/l/_pYNhfLTLM3Qt
https://dl.doubtnut.com/l/_2krfQRmEViU0
https://dl.doubtnut.com/l/_BWnubZ91aq4T


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KClO2 + O2

KCl + O2

KCl + O3

KCl + O2 + O3

10. The correct order of acidic strength is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

K2O > CaO > MgO

CO2 > N2O5 > SO3

Na2O > Mgo > Al2O3

Cl2O7SO2 > P4O10

https://dl.doubtnut.com/l/_BWnubZ91aq4T
https://dl.doubtnut.com/l/_FOJOjBs31mjA


11. Which one is not a property of ozone?

A. it acts an oxidising agent in dry state

B. oxidation of K1 into 

C. PbS is oxidised to 

D. Hg is oxidised to 

Answer: B

Watch Video Solution

KlO2

PbSO4

Hg2O

12. The oxyacid of sulphur that contains a lone pair of electrons in

sulphur is

A. sulphurous acid

B. sulphuric acid

C. peroxodisulphuric acid

https://dl.doubtnut.com/l/_FOJOjBs31mjA
https://dl.doubtnut.com/l/_iRipP7MeeQ0K
https://dl.doubtnut.com/l/_rAOJNw27sPnT


D. pyrosulphuric acid

Answer: A

Watch Video Solution

13. The oxidation states of sulphur in the anions , and 

 follow the order

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SO2 −
3 , S2O

2 −
4

S2O
2 −
6

S2O
2 −
6 < S2O

2 −
4 < SO2 −

3

S2O
2 −
4 < SO2 −

3 < S2O
2 −
6

SO2 −
3 < S2O

2 −
4 < S2O

2 −
6

S2O
2 −
4 < S2O

2 −
6 < SO2 −

3

https://dl.doubtnut.com/l/_rAOJNw27sPnT
https://dl.doubtnut.com/l/_w5jDZPI846xY


14. The correct order of increasing electron affinity of halogens is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 < Br < Cl

Br < 1 < u

Cl < Br < 1

1 < Cl < Br

15. Which of the following gives correct arrangement of compounds

involved based on their bond strength?

A. 

B. 

C. 

D. 

HF > HCl > HBr > Hl

Hl > HBr > HCl > HF

Hl > HBr > HCl > HF

HF > HBr > HCl > H1

https://dl.doubtnut.com/l/_4jbrik0LBTpx
https://dl.doubtnut.com/l/_9v8o3tJYamC4


Answer: A

Watch Video Solution

16. What is the correct operation when Br2 is treated with NaF, NaCl and

Nal taken in three test tukes lavelled (X), (Y) and (Z)? 

A.  is liberated in (X) and  in (Y)

B. Only  is liberated in (Z).

C. Only  is liberated in (Y)

D. Only  is liberated in (X)

Answer: B

Watch Video Solution

F2 Cl2

l2

Cl2

F2

https://dl.doubtnut.com/l/_9v8o3tJYamC4
https://dl.doubtnut.com/l/_MtjiZuRSuw0Z


17. Which of the following increasing order is not correct as mentioned in

the property with it?

A.  (thermal stalrlity)

B.  (oxidising power)

C.  (reducing nature)

D.  (oxidation number of iodine)

Answer: D

Watch Video Solution

HClO < HClO2 < HClO3 < HClO4

HClO4 < HClO3 < HClO2 < HClO

F – < Cl– < Br – < 1–

HlO4 < lCl < l2 < Hl

18. Complete the following reactions by filling the appropriate choice. 

 


A. 

B. 

A. 6XeF4 + 12H2O → 4Xe + 2XeO3 + (i) + (ii)

B. XeF6 + 3H2O → (iii) + 6HF

(i) (ii) (iii)

F2 H2O XeOF4

(i) (ii) (iii)

24HF 3O2 XeO3

https://dl.doubtnut.com/l/_Ily48Y0wvs3w
https://dl.doubtnut.com/l/_otyanWqkFEMO


C. 

D. 

Answer: B

Watch Video Solution

(i) (ii) (iii)

2HF 2H2O XeO

(i) (ii) (iii)

HF H2O Xe2O3

19. Among the following molecules 

 


those having same number of lone pairs on Xe are

A. (i) and (ii) only

B. (i) and (iii) only

C. (ii) and (iii) only

D. (i), (ii) and (iii)

Answer: D

Watch Video Solution

(i)XeO3(ii)XeOF4(iii)XeF6

https://dl.doubtnut.com/l/_otyanWqkFEMO
https://dl.doubtnut.com/l/_j7T0eKqRQuRM


20.  hybridisation is present in

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sp3d2

XeOF2

XeOF4

XeO4

XeO2F2

21. Which of the following statements are correct?

A. Among halogens, radius ratio between iodine and fluorine is

maximum

B. Leaving  bond, all halogens have weaker  bond than 

 bond in interhalogens

F– F X— X

X— X'

https://dl.doubtnut.com/l/_j7T0eKqRQuRM
https://dl.doubtnut.com/l/_1XQOGCz9Bj8X
https://dl.doubtnut.com/l/_Dnnf5TfKxIj0


C. Among interhalogen compounds maximum number of atoms are

present in iodine fluoride.

D. Interhalogen compounds are more reactive than halogen

compounds.

Answer: A::C::D

Watch Video Solution

22. Which of the following statements are correct for  gas ?

A. It act as bleaching agent in moist conditions

B. It's molecule has linear geometry

C. It's dilute solution is used as disinfectant.

D. It can be prepared by the reaction of dilute  with metal

sulphide.

Answer: A::C

SO2

H2SO4

https://dl.doubtnut.com/l/_Dnnf5TfKxIj0
https://dl.doubtnut.com/l/_8AjiyZmosFXS


Watch Video Solution

23. Which of the following statements are correct?

A. All the three  bond lengths in  are equal.

B. All  bond lengths in  molecule in gaseous state are

equal.

C.  molecule in white phosphorous have angular strain therefore

white phosphours is very reactive.

D.  is ionic in solid state in which cation is tetrahedral and anion

is octahedral.

Answer: C::D

Watch Video Solution

N— O HNO3

P– Cl PCl5

P4

PCl5

https://dl.doubtnut.com/l/_8AjiyZmosFXS
https://dl.doubtnut.com/l/_npiOnrsy7Gbj


24. Which of the following order are correct as per the properties

mentioned against each ?

A.  Acid strength

B.  Enthalpy of vapourisation

C.  More negative electron gain enthalpy

D.  Thermal stability

Answer: A::D

Watch Video Solution

As2O3 < SiO2 < P2O3 < SO2

AsH3 < PH3 < NH3

S < O < Cl < F

H2O > H2S > H2Se > H2Te

25. Which of the following statements are true?

A. Only type of interactions between particles of noble gases are due

to weak dispersion forces.

B. Ionisation enthalpy of molecular oxygen is very close to that of

numon.

https://dl.doubtnut.com/l/_iZrANsor12wN
https://dl.doubtnut.com/l/_d0TDHOWpki89


C. Hydrolysis of  is a redox reaction.

D. Xenon fluorides are not reactive.

Answer: A::B

Watch Video Solution

XeF6

26. Match the items of column 1 and column 2 and mark the correct

option 

A. A–4, B–3, C–1, D–2

B. A–3, B–4, C–1, D–2

C. A–4, B–1, C–2, D–3

D. A–2, B–1, C–3, D–4

Answer: A

Column 1 Column 2

(A) H2SO4 (1) Highest electron gain enthalpy

(B) CCl3NO2 (2) Chalcogen

(C) Cl2 (3) Tear gas

(D) Sulphur (4) Storage batteries

https://dl.doubtnut.com/l/_d0TDHOWpki89
https://dl.doubtnut.com/l/_Ohns5qmvEDWv


Watch Video Solution

27. Match the items of column 1 and column 2 and mark the correct

option. 

A. A–1, B–4, C–2, D–3

B. A–1, B–2, C–3, D–4

C. A–2, B–1, C–4, D–3

D. A–1, B–3, C–2, D–4

Answer: C

Watch Video Solution

Column 1

(A) Its partial hydrolysis does not change oxidation state of central atom

(B) It is used in modern diving apparatus

(C) It is used to provide inert atmosphere for filling electrical bulbs

(D) Its central atom is in sp3d2  hybridisation

https://dl.doubtnut.com/l/_Ohns5qmvEDWv
https://dl.doubtnut.com/l/_AoYeluSYeMiF


28. Assertion : HI cannot be prepared by the reaction of KI with

concentrated  


Reason : HI has lowest H-X bond strength among halogen acids.

A. Both assertion and reason are correct statements, and reason is

the correct explanation of the assertion.

B. Both assertion and reason are correct statements, but reason is not

the correct explanation of the assertion.

C. Assertion is correct, but reason is wrong statement.

D. Assertion is wrong but reason is correct statement.

Answer: B

Watch Video Solution

H2SO4

29. Assertion: Both rhombic and monollinic sulphur exist as  but

oxygen exist as . 


S8

O2

https://dl.doubtnut.com/l/_1qFtAYwukx2D
https://dl.doubtnut.com/l/_eDQsHuHNlN1G


Reason: Oxygen forms  multiple bond due to small size and small

bond length but  bonding is not possible is sulphur.

A. Both assertion and reason are correct statements, and reason is

the correct explanation of the assertion.

B. Both assertion and reason are correct statements, but reason is not

the correct explanation of the assertion.

C. Assertion is correct, but reason is wrong statement.

D. Assertion is wrong but reason is correct statement.

Answer: A

View Text Solution

Pπ – Pπ

Pπ – Pπ

30. The difference in the oxidisation numbers of the two types of sulphur

atoms in  is 
Na2S4O6

https://dl.doubtnut.com/l/_eDQsHuHNlN1G
https://dl.doubtnut.com/l/_QNp8MMiolj1N


Very Short Answer Type Questions

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1. Explain why  is easily hydrolysed, whereas  is resistant to

hydrolysis ?

Watch Video Solution

SF4 SF6

2. In group 16, the stability of + 6 oxidation state decreases and that of +

4 oxidation state increases down the group. Why ?

https://dl.doubtnut.com/l/_QNp8MMiolj1N
https://dl.doubtnut.com/l/_LkCCNEBr1GvL
https://dl.doubtnut.com/l/_h3NskEf8nj0P


Watch Video Solution

3. Draw the structure of  and find the number of S – S bond, if

any.

Watch Video Solution

H2S2O8

4. What happens when sulphur dioxide gas is passed through an aqueous

solution of Fe(III) salt ?

Watch Video Solution

5. All the bonds in  are not equivalent. Why ?

Watch Video Solution

SF4

6. Why does  act as a powerful oxidising agent ?O3

https://dl.doubtnut.com/l/_h3NskEf8nj0P
https://dl.doubtnut.com/l/_JFYPL7TAgbZh
https://dl.doubtnut.com/l/_BGx4SVaItEQB
https://dl.doubtnut.com/l/_ORCoPux1AHZR
https://dl.doubtnut.com/l/_Wzgz3YTUVSyi


Watch Video Solution

7. Which one of the following is not oxidized by  ? State the reason : 


Watch Video Solution

O3

KI, FeSO4, K2MnO4, KMnO4

8. Why does oxygen not show an oxidation state of  ?

Watch Video Solution

+4 and + 6

9. Oxygen and sulphur in vapour phases are paramagnetic in nature.

Explain why ?

Watch Video Solution

https://dl.doubtnut.com/l/_Wzgz3YTUVSyi
https://dl.doubtnut.com/l/_H7MU00sNsQSo
https://dl.doubtnut.com/l/_fpPTY7oob0CJ
https://dl.doubtnut.com/l/_B891Mog1bQYx


10. The stability of the halides of group 16 elements decreases in the

order

Watch Video Solution

11. Why are the two S – O bonds in  molecule have equal strength ?

Watch Video Solution

SO2

12. Why is  for  in water ?

Watch Video Solution

Ka2 < < Ka1 H2SO4

13.  is a liquid while  is a gas.

Watch Video Solution

H2O H2S

https://dl.doubtnut.com/l/_GGcRNdVdbMov
https://dl.doubtnut.com/l/_areyTCegMCC9
https://dl.doubtnut.com/l/_pMYBh6RfksoF
https://dl.doubtnut.com/l/_l3CHYutwfahx


14. The electron gain enthalpy with negative sign for oxygen

 is numerically less than that for sulphur 

. Give reason.

Watch Video Solution

( − 141KJmol− 1)

( − 200KJmol− 1)

15. Why is dioxygen a gas but sulphur a solid?

Watch Video Solution

16. In the preparation of  by Contact process, why is  not

absorbed directly in water to form  ?

Watch Video Solution

H2SO4 SO3

H2SO4

17. Explain why fluorine forms only one oxoacid, HOF.

View Text Solution

https://dl.doubtnut.com/l/_6Ooyfba46M6h
https://dl.doubtnut.com/l/_cvHkSf3ByufK
https://dl.doubtnut.com/l/_mGhqmGDZhJPZ
https://dl.doubtnut.com/l/_QmcMBiNkWWe7


18. Why HF is the weakest acid and HI is the strongest ?

Watch Video Solution

19. Explain why halogens are strong oxidizing agents.

Watch Video Solution

20.  is more soluble in KI than in water. Why ?

Watch Video Solution

I2

21. What is cause of bleaching action of chlorine water ? Explain it with

chemical equation.

Watch Video Solution

https://dl.doubtnut.com/l/_QmcMBiNkWWe7
https://dl.doubtnut.com/l/_4qGwaA8CpzO5
https://dl.doubtnut.com/l/_8aSq5mUcKJ03
https://dl.doubtnut.com/l/_vFFb67toTmMv
https://dl.doubtnut.com/l/_b5Mpd03o5f6j
https://dl.doubtnut.com/l/_l1QdWly9iIcc


22. Electron gain enthalpy of fluorine is less than that of chlorine -

explain.

Watch Video Solution

23. Why can’t we prepare HBr by heating KBr with sulphuric acid ?

Watch Video Solution

24. Explain why : ICl is more reactive than  ?

Watch Video Solution

I2

25. Which oxide of iodine is used for the estimation of carbon mono oxide

?

Watch Video Solution

https://dl.doubtnut.com/l/_l1QdWly9iIcc
https://dl.doubtnut.com/l/_Qq2hXhuBqwH3
https://dl.doubtnut.com/l/_z0tm7DdkenQ1
https://dl.doubtnut.com/l/_GrU08o0T9o9b
https://dl.doubtnut.com/l/_fm5BczVJP8Xh


26. Arrange the following oxoacids of chlorine in increasing order of acid

strength : 

Watch Video Solution

HOCl, HOClO, HOClO2, HOClO3

27. Why does fluorine not play the role of a central atom in interhalogen

compounds ?

Watch Video Solution

28. Fluorine exhibit only – 1 oxidation state whereas other halogens

exhibit +ve oxidation states also. Explain why ?

Watch Video Solution

29.  exists but  does not. Why ?

View Text Solution

ClF3 FCl3

https://dl.doubtnut.com/l/_fm5BczVJP8Xh
https://dl.doubtnut.com/l/_3QASHfe3lgCj
https://dl.doubtnut.com/l/_eR865PpLY0Jl
https://dl.doubtnut.com/l/_eve1ShQeWmJK


30. Despite lower value of its electron gain enthalpy with negative sign,

fluorine  is a stronger oxidising agent than chlorine . Explain.

Watch Video Solution

(F2) (Cl2)

31.  molecule has a bent T-shaped structure and not a trigonal

planar structure. Explain.

Watch Video Solution

ClF3

32. What happens when NaCl is heated with  in the presence of 

 ?

Watch Video Solution

H2SO4

MnO2

33. With what neutral molecule  is isoelectronic ?ClO−

https://dl.doubtnut.com/l/_eve1ShQeWmJK
https://dl.doubtnut.com/l/_vQvZxhZvg5N1
https://dl.doubtnut.com/l/_6sV2SvrCP0r3
https://dl.doubtnut.com/l/_thS09x3P9LNV
https://dl.doubtnut.com/l/_JVTpeUuiyOpU


Watch Video Solution

34. Why HF acid is stored in wax coated glass bottle ?

Watch Video Solution

35. Bond dissociation enthalpy of  is less than that of . Explain why

?

Watch Video Solution

F2 Cl2

36. What inspired N. Bartlett for carrying out reaction between Xe and

?

Watch Video Solution

PtF6

https://dl.doubtnut.com/l/_JVTpeUuiyOpU
https://dl.doubtnut.com/l/_JTTVWSryyoAI
https://dl.doubtnut.com/l/_8XmnG5WiT4Jl
https://dl.doubtnut.com/l/_5BRGdA62EJlh


37. Predict the shape and the bond angle (  or more or less) in the

following case : 

 and the angle 

Watch Video Solution

90∘

XeF2 F −
....

Xe
..

− F

38. Structure of Xenon fluoride cannot be explained by valence bond

approach. Why ?

View Text Solution

39. Why do some noble gases form compounds with fluorine and oxygen

only ?

Watch Video Solution

https://dl.doubtnut.com/l/_mJMDtDYhCC9a
https://dl.doubtnut.com/l/_eGIbhQ130wEK
https://dl.doubtnut.com/l/_nD2hIqv4p7oV


Short Answer I Type Questions

40.  has a straight linear structure and not a bent angular

structure. Why ?

Watch Video Solution

XeF2

41. Why do noble gases have low boiling points ?

Watch Video Solution

42. Write the chemical equation involved in the preparation of .

Watch Video Solution

XeF4

1. Write the chemical equations of the following reactions : 

Sucrose is heated with conc. .H2SO4

https://dl.doubtnut.com/l/_fOGTxnqsBSSv
https://dl.doubtnut.com/l/_ClqFxdoM3AIu
https://dl.doubtnut.com/l/_I8euehbo12DI
https://dl.doubtnut.com/l/_E2fHd4uLrRMD


Watch Video Solution

2. Write the chemical equations of the following reactions : 

Sodium nitrate is heated with conc. .

Watch Video Solution

H2SO4

3. Mention the favourable conditions for the manufacture of sulphuric

acid by contact process.

Watch Video Solution

4. Complete the following reactions : 

Watch Video Solution

PbS + O3 →

https://dl.doubtnut.com/l/_E2fHd4uLrRMD
https://dl.doubtnut.com/l/_wpJuIVvlnc5X
https://dl.doubtnut.com/l/_HeOGCW4CHQA9
https://dl.doubtnut.com/l/_U82hC1fe8Kkw


5. Complete the following reactions : 

Watch Video Solution

KI + H2O + O3 →

6. Complete the following chemical equations : 

(i)  


(ii) 

Watch Video Solution

SO2 + MnO
−
4 + H2O →

F2(g) + H2O(l) →

7. Complete the following reactions : 

Watch Video Solution

S8 + H2SO4(conc.) →

8.  is a stronger acid than . ExplainH2S H2O

https://dl.doubtnut.com/l/_RCVrL1sngccv
https://dl.doubtnut.com/l/_jlC6vXcNOK3N
https://dl.doubtnut.com/l/_NIZhndhFBv59
https://dl.doubtnut.com/l/_OEdn4YLGSM24


Watch Video Solution

9. Account for the following : 

Two S - O bond lengths in  are equal. 


(ii) Fluorine shows only - 1 oxidation state in its compounds.

Watch Video Solution

SO2

10. Explain why : 

 is inert and stable but  is reactive.

Watch Video Solution

SF6 SF4

11. Why does sulphur have greater tendency for catenation than oxygen ?

Watch Video Solution

https://dl.doubtnut.com/l/_OEdn4YLGSM24
https://dl.doubtnut.com/l/_WLEXIr4spWlg
https://dl.doubtnut.com/l/_EHBcfRfmXVg3
https://dl.doubtnut.com/l/_cdUG7omEd1wk


12. How is  estimated quantitatively ?

Watch Video Solution

O3

13. Explain why ozone is thermodynamically less stable then oxgen ?

Watch Video Solution

14. Draw the structure of : 

Watch Video Solution

H2SO5

15. Draw the structure of : 

Watch Video Solution

SO2 −
3

https://dl.doubtnut.com/l/_DXvtbxsuAuyC
https://dl.doubtnut.com/l/_UrbM8EOxuY7Q
https://dl.doubtnut.com/l/_zRJS6scBAmSN
https://dl.doubtnut.com/l/_9YlcK0WWxWwl
https://dl.doubtnut.com/l/_LPXrAz7KiZl2


16. Interhalogen compounds are more reactive than halogens except .

Why ?

Watch Video Solution

F2

17. Give one important use of .

Watch Video Solution

ClF3

18. Write the composition of bleaching powder.

Watch Video Solution

19. What happens when NaCl is heated with conc.  in the presence

of . Write the chemical equation.

Watch Video Solution

H2SO4

MnO2

https://dl.doubtnut.com/l/_LPXrAz7KiZl2
https://dl.doubtnut.com/l/_ffyxqGr09a0O
https://dl.doubtnut.com/l/_V5pE5YDibVX6
https://dl.doubtnut.com/l/_gab7VxOeUE5C
https://dl.doubtnut.com/l/_mAzYwl7IVTBE


20. A colourless pungent smelling gas, which easily liquefies to a

colourless liquid and freezes to a white crystalline solid, gives dense

white fumes with ammonia. Identify the gas and write the chemical

equation for its laboratory preparation.

Watch Video Solution

21.  readily dimenise, whereas  does not. Why ?

Watch Video Solution

NO2 ClO2

22. Compare the oxidizing powers of  on the basis of bond

dissociation enthalpy, electron gain enthalpy of halogens and hydration

enthalpy of halide ions.

Watch Video Solution

F2 and Cl2

https://dl.doubtnut.com/l/_mAzYwl7IVTBE
https://dl.doubtnut.com/l/_XLlcRdGCxxLr
https://dl.doubtnut.com/l/_5U9uzxlgErUz


23. Which fluorinating agent are oftenly used instead of  ? Write

chemical equation showing their use as flurorinating agents.

Watch Video Solution

F2

24. Draw the structure of .

Watch Video Solution

BrF3

25. Complete the following reactions : 

Watch Video Solution

Al2O3(s) + NaOH(aq) + H2O(l) →

26. Complete the following reactions : 

Watch Video Solution

HCl + O2 →

https://dl.doubtnut.com/l/_esndkozQMB3b
https://dl.doubtnut.com/l/_csk2LNqRstiK
https://dl.doubtnut.com/l/_JrHEOHm3nEWL
https://dl.doubtnut.com/l/_6uCDqSCDYY63


27. Complete the following reactions : 

Watch Video Solution

Ca(OH)2 + Cl2 →

28. Complete the following reactions : 

Watch Video Solution

N2(excess) + Cl2 →

29. Complete the following reactions : 

Watch Video Solution

Na2SO3 + Cl2 + H2O →

https://dl.doubtnut.com/l/_6uCDqSCDYY63
https://dl.doubtnut.com/l/_mfpIkdOjXj1d
https://dl.doubtnut.com/l/_tlBzpHqtTwQh
https://dl.doubtnut.com/l/_86X5I2OzCC1l


30. Complete the following reactions : 

Watch Video Solution

NH3 + Cl2(excess) →

31. Complete the following reactions : 

Watch Video Solution

Cl2 + NaOH(cold & dil.) →

32. Complete the following equations : 

(i)  


(ii)  


(iii)  


(iv)

Watch Video Solution

NaOH(aq)
( hot and conc. )

+ Cl2(g) →

XeF6(s) + H2O(l) →

P4(s) + SO2Cl2(l) →

XeF4(g) + H2O(l) →

https://dl.doubtnut.com/l/_pw0lPY4SdTDK
https://dl.doubtnut.com/l/_9AjRvTy9ja7e
https://dl.doubtnut.com/l/_zJOvIKqpj8oz
https://dl.doubtnut.com/l/_ni313FLzdUWn


33. Complete the following reactions : 

Watch Video Solution

Fe + HCl →

34. 

Watch Video Solution

Cl2 + F2(excess) →

35. Complete the following reactions : 

Watch Video Solution

U + ClF3 →

36. Complete the following reactions : 

Watch Video Solution

FeSO4 + H2SO4 + Cl2 →

https://dl.doubtnut.com/l/_ni313FLzdUWn
https://dl.doubtnut.com/l/_Y755vwMAxIiY
https://dl.doubtnut.com/l/_eeXsmzYLN5Ow
https://dl.doubtnut.com/l/_56Bm5VD3n2Ew


37. Draw the structure of : 

Watch Video Solution

I −
3

38. Draw the structure of : 

.

Watch Video Solution

ICl−
2

39. Give appropriate reason for each of the following : 

Metal fluorides are more ionic than metal chlorides.

Watch Video Solution

40. Suggest reason why only known binary compounds of noble gases are

fluorides and oxides of Xenon and to a lesse extent of Kryton.

https://dl.doubtnut.com/l/_UIwNjyuMhrBl
https://dl.doubtnut.com/l/_Peqc41g8yZRh
https://dl.doubtnut.com/l/_3rUuNtq0jCkm
https://dl.doubtnut.com/l/_jogdyYSE7quX


Watch Video Solution

41. Hydrolysis of  is not regarded as a redox reaction. Why ?

Watch Video Solution

XeF6

42. Write a chemical equation to represent the oxidizing nature of .

Watch Video Solution

XeF4

43. Write chemical equations when : 

 is hydrolysed.

Watch Video Solution

XeF2

44. Write chemical equations when : 

 and Xenon are mixed together.

W h Vid S l i

PtF6

https://dl.doubtnut.com/l/_jogdyYSE7quX
https://dl.doubtnut.com/l/_RXf9mncf1nDH
https://dl.doubtnut.com/l/_u25Z4VMLnP9q
https://dl.doubtnut.com/l/_4QLBQ4ILYm22
https://dl.doubtnut.com/l/_5jdtcvJAe0Kg


Watch Video Solution

45. Complete the equation 

Watch Video Solution

XeF6 + H2O → ? + ?

46. 

Watch Video Solution

XeF6 + H2O →

47. Draw the structure of  using VSEPR theory.

Watch Video Solution

BrF3, XeOF4, XeO3

48.  has linear structure and not a bent structure , Given reason .

Watch Video Solution

XeF2

https://dl.doubtnut.com/l/_5jdtcvJAe0Kg
https://dl.doubtnut.com/l/_P5FBgkkAWpD7
https://dl.doubtnut.com/l/_N1vevNqFwOMs
https://dl.doubtnut.com/l/_nCIl8xS9uXTY
https://dl.doubtnut.com/l/_NlqeJhKawwQO


Short Answer Ii Type Questions

49. The majority of noble gas compounds are those of xenon. Explain.

Watch Video Solution

50. Write the chemical reactions : 

Watch Video Solution

XeF2(s) + H2O(l) →

51. 

Watch Video Solution

XeF4 + O2F2 →

1. How does  react with lead sulphide ? Write chemical equation.

Watch Video Solution

O3

https://dl.doubtnut.com/l/_XN2mTOd12LE1
https://dl.doubtnut.com/l/_XXDAVsMKXzKF
https://dl.doubtnut.com/l/_g39AB04H3ksG
https://dl.doubtnut.com/l/_a5IQ6LTLwC71


2. What happens when  is passed in acidified  solution ?

Watch Video Solution

SO2 KMnO4

3.  behaves with lime water similar to . Explain why ?

Watch Video Solution

SO2 CO2

4. 

Watch Video Solution

CaF2 + H2SO4 →

5. Complete the reactions : 

Watch Video Solution

C12H22O11 + H2SO4(conc.) →

https://dl.doubtnut.com/l/_a5IQ6LTLwC71
https://dl.doubtnut.com/l/_ndDVeH2M0QDf
https://dl.doubtnut.com/l/_Vy2x9zfGdo6T
https://dl.doubtnut.com/l/_eLo0H69pQ66s
https://dl.doubtnut.com/l/_HEvkwkNXOuJw
https://dl.doubtnut.com/l/_XcfhwespLp9r


6. Complete the reactions : 

Watch Video Solution

SO2 + MnO
−
4 + H2O →

7. An amorphous solid ‘A’ burns in air to form a gas ‘B’ which turns lime

water milky. The gas is also produced as a by-product during roasting of

sulphide ore. This gas decolourises acidified aq.  solution.

Identify the solid ‘A’ and the gas ‘B’ and write the reaction involved.

Watch Video Solution

KMnO4

8. How is  prepared in laboratory ?

Watch Video Solution

SO2

9. An amorphous solid ‘A’ burns in air to form a gas ‘B’ which turns lime

water milky. The gas is also produced as a by-product during roasting of

https://dl.doubtnut.com/l/_XcfhwespLp9r
https://dl.doubtnut.com/l/_rdwlGeIR6vZp
https://dl.doubtnut.com/l/_Fw6y4EBDERK2
https://dl.doubtnut.com/l/_aPXNRNqhK6Cu


sulphide ore. This gas decolourises acidified aq.  solution.

Identify the solid ‘A’ and the gas ‘B’ and write the reaction involved. 

What happens when  is passed through water and reacts with NaOH

? Write balanced equation.

View Text Solution

KMnO4

SO2

10. An amorphous solid ‘A’ burns in air to form a gas ‘B’ which turns lime

water milky. The gas is also produced as a by-product during roasting of

sulphide ore. This gas decolourises acidified aq.  solution.

Identify the solid ‘A’ and the gas ‘B’ and write the reaction involved. 

Write its any two uses.

Watch Video Solution

KMnO4

11. Assign reason for the following : 

(i) Sulphur in vapour state exhibits paramagnetism. 

(ii)  is less acidic than . 
H2O H2Te

https://dl.doubtnut.com/l/_aPXNRNqhK6Cu
https://dl.doubtnut.com/l/_1mxL7C8h825t
https://dl.doubtnut.com/l/_E6SMLq7GXaQQ


(iii) In spite of having same electronegativity, oxygen forms hydrogen

bond while chlorine does not.

Watch Video Solution

12. Write contact process for the manufacture of king of chemicals.

Watch Video Solution

13. Give appropriate reason for each of the following : 

Perchloric acid is stronger than sulphuric acid.

Watch Video Solution

14. Give appropriate reason for each of the following : 

Addition of chlorine to KI solution gives it a brown colour but excess of

 makes it colourless.

Watch Video Solution

Cl2

https://dl.doubtnut.com/l/_E6SMLq7GXaQQ
https://dl.doubtnut.com/l/_3MPD9KE83dL7
https://dl.doubtnut.com/l/_AXVIZkBCu539
https://dl.doubtnut.com/l/_EvwYjgvsITAH


15.  is a greenish yellow gas with pungent offensive smell used in

purification of water. It partially dissolves in  to give a solution which

turns blue litmus red. When  is passed through NaBr solution,  is

obtained. 

Identify , name the group to which it belongs.

Watch Video Solution

X2

H2O

X2 Br2

X2

16.  is a greenish yellow gas with pungent offensive smell used in

purification of water. It partially dissolves in  to give a solution which

turns blue litmus red. When  is passed through NaBr solution,  is

obtained. 

What are the products obtained when  reacts with  ? Write

chemical equation.

Watch Video Solution

X2

H2O

X2 Br2

X2 H2O

https://dl.doubtnut.com/l/_EvwYjgvsITAH
https://dl.doubtnut.com/l/_26sW4MctLXPd
https://dl.doubtnut.com/l/_pf4dBBAg7fhb


17.  is a greenish yellow gas with pungent offensive smell used in

purification of water. It partially dissolves in  to give a solution which

turns blue litmus red. When  is passed through NaBr solution,  is

obtained. 

What happens when  reacts with hot and conc. NaOH ? Give equation.

Watch Video Solution

X2

H2O

X2 Br2

X2

18. Arrange the following in the order of the property indicated for each

set : 

 (Increasing bond dissocation energy)

View Text Solution

F2, Cl2, Br2, I2

19. Arrange the following in the order of the property indicated for each

set : 

 (decreasing acid strength)

Watch Video Solution

HF , HCl, HBr, HI

https://dl.doubtnut.com/l/_ZfnDmoJDAq6w
https://dl.doubtnut.com/l/_caAF5uFgdolu
https://dl.doubtnut.com/l/_QHbCgFulGGcJ


Watch Video Solution

20. Draw the structure of : 

Hypochlorous acid

Watch Video Solution

21. Draw the structure of : 

Chlorous acid

Watch Video Solution

22. Draw the structure of : 

Perchloric acid

Watch Video Solution

23. Which is more acidic among  and  ? Why ?HClO4 HIO4

https://dl.doubtnut.com/l/_QHbCgFulGGcJ
https://dl.doubtnut.com/l/_U9qul1S91ngb
https://dl.doubtnut.com/l/_TiPoRGsEd3gJ
https://dl.doubtnut.com/l/_XXktGt1v2o18
https://dl.doubtnut.com/l/_b97QBMK4ibRk


Watch Video Solution

24. Assign reason to the following : 

Noble gases have large positive values of electron gain enthalpy.

Watch Video Solution

25. Assign reason to the following : 

Helium is used by scuba divers.

Watch Video Solution

26. Assign reason to the following : 

No chemical compound of helium is known.

Watch Video Solution

https://dl.doubtnut.com/l/_b97QBMK4ibRk
https://dl.doubtnut.com/l/_Yw0DbFl7XmFz
https://dl.doubtnut.com/l/_9bRiK5bqUqE9
https://dl.doubtnut.com/l/_oYKLJVGiBZ4n


27. Explain the structures of 

Watch Video Solution

XeOF4

28. What is the structure ox ?

Watch Video Solution

XeF6

29. Explain the structure of 

Watch Video Solution

XeO3

30. Complete the reactions : 

Watch Video Solution

XeF2 + NaF →

https://dl.doubtnut.com/l/_HuRrqNQSQxFN
https://dl.doubtnut.com/l/_BIyRTJ3oazgf
https://dl.doubtnut.com/l/_Yneyr755ATaW
https://dl.doubtnut.com/l/_acc8HE2uZ7qJ


31. 

Watch Video Solution

XeF4 + SbF5 →

32. 

Watch Video Solution

XeF4 + H2O →

33. How is  prepared from  ? Write the chemical equation for

the reaction.

Watch Video Solution

XeO3 XeF6

34. Draw the structues of the following : 

(i)  


(ii) 

W h Vid S l i

XeF4

HClO4

https://dl.doubtnut.com/l/_acc8HE2uZ7qJ
https://dl.doubtnut.com/l/_3zLM2V1JRyMP
https://dl.doubtnut.com/l/_eZv8p3L0P4KH
https://dl.doubtnut.com/l/_qqwYGOWHlW6Z
https://dl.doubtnut.com/l/_wIM6kUAIeptW


Long Answer Type Questions

Watch Video Solution

1. How is  prepared from the  ? Write the chemical equation

for the reaction.

Watch Video Solution

XeF6 XeF4

2. Deduce the structure of  using VSEPR theory.

Watch Video Solution

XeF6

3. How does  reacts with  ?

Watch Video Solution

XeF2 PF5

4. Give one use each of helium and neon.

https://dl.doubtnut.com/l/_wIM6kUAIeptW
https://dl.doubtnut.com/l/_khzjeArcztZc
https://dl.doubtnut.com/l/_PexkpI26Noto
https://dl.doubtnut.com/l/_g7QnznNNHZzp
https://dl.doubtnut.com/l/_enCunrQvyvqc


Watch Video Solution

5. Write the chemical equation for the hydrolysis of .

Watch Video Solution

XeF4

6. A greenish yellow gas 'X' is passed through water to form a saturated

solution. The aqueous solution on treatment with silver nitrate solution

gives a white precipitate. The saturated aqueous solution also dissolves

magnesium ribbon with the evolution of a colourless gas 'Y'. Identify

gases 'X' and 'Y'.

Watch Video Solution

7. Concentrated sulphuric acid is added followed by heating in each of the

following test types labelled (i) to (v) 

https://dl.doubtnut.com/l/_enCunrQvyvqc
https://dl.doubtnut.com/l/_3YUkRvwFKi1B
https://dl.doubtnut.com/l/_yE3Cw4x46lGC
https://dl.doubtnut.com/l/_DFLe4arkUNpZ


https://dl.doubtnut.com/l/_DFLe4arkUNpZ


 


Identify in which of the above test tubes, the following changes will be

observed. Support your answer with the help of a chemical equation. 

formation of black substance

View Text Solution

8. Concentrated sulphuric acid is added followed by heating in each of

the following test types labelled (i) to (v) 

https://dl.doubtnut.com/l/_DFLe4arkUNpZ
https://dl.doubtnut.com/l/_7XpVffXmbieQ


 


Identify in which of the above test tubes, the following changes will be

observed. Support your answer with the help of a chemical equation. 

evolution of brown gas

View Text Solution

https://dl.doubtnut.com/l/_7XpVffXmbieQ


9. Concentrated sulphuric acid is added followed by heating in each of

the following test types labelled (i) to (v) 

https://dl.doubtnut.com/l/_dJeKahub6wHE


 


Identify in which of the above test tubes, the following changes will be

observed. Support your answer with the help of a chemical equation. 

evolution of colourless gas

View Text Solution

10. Concentrated sulphuric acid is added followed by heating in each of

the following test types labelled (i) to (v) 

https://dl.doubtnut.com/l/_dJeKahub6wHE
https://dl.doubtnut.com/l/_wB2L2UEuJf6z


 


Identify in which of the above test tubes, the following changes will be

observed. Support your answer with the help of a chemical equation. 

formation of brown substance which on dilution becomes blue.

View Text Solution

https://dl.doubtnut.com/l/_wB2L2UEuJf6z


11. Concentrated sulphuric acid is added followed by heating in each of

the following test types labelled (i) to (v) 

https://dl.doubtnut.com/l/_wB2L2UEuJf6z
https://dl.doubtnut.com/l/_iT7WUSMPFhQN


 


Identify in which of the above test tubes, the following changes will be

observed. Support your answer with the help of a chemical equation. 

disappearance of yellow powder along with the evolution of a colourless

gas.

View Text Solution

12. An aqueous solution of gas ‘A’ gave the following data (reactions): 

It decolourised an acidified  solution.

Watch Video Solution

KMnO4

https://dl.doubtnut.com/l/_iT7WUSMPFhQN
https://dl.doubtnut.com/l/_eOACVk4KQzlX


13. An aqueous solution of gas ‘A’ gave the following data (reactions): 

On boiling with  followed by cooling and then adding an aqueous

solution of , a white precipitate insoluble in dilute HCl was

obtained.

Watch Video Solution

H2O2

BaCl2

14. An aqueous solution of gas ‘A’ gave the following data (reactions): 

On passing  through the solution of the gas, white turbidity was

obtained. Identify the gas and give equations for gas step

Watch Video Solution

H2S

15. An element ‘A’ exist as a yellow solid in standard stae. It forms a voilet

hydride ‘B’ which is a foul smelling gas and is extensively used in

qualitative analysis of salts. When reated with oxygen. ‘B’ forms an oxide

‘C’ which is a colourless and pungent smelling gas. The gas when passed

through acidified  solution, decolourises it, ‘C’ gets oxidised tokMnO4

https://dl.doubtnut.com/l/_rAS3WshrBWGn
https://dl.doubtnut.com/l/_bleHsCb10ko3
https://dl.doubtnut.com/l/_dFs38PnQixl3


another oxide ‘D’ in the presence of heterogenous catalyst. Identifier A, B,

C, D and also give the chemical equation of reaction ‘C’ with acidified

 solution and for conversion of ‘C’ into ‘D’.

View Text Solution

KmnO4

https://dl.doubtnut.com/l/_dFs38PnQixl3

